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[:{iva K4 BERAUE | RBERAUE | MRARAUL | R—FR
1 WH F 281.50 143.50 78.00 60.00
2 PE KB 184.87 155.00 29.87
3 FH FExk 137.91 105.00 32.91
4 g BHE 136.73 91.50 4523
5 Pk T 105.46 78.50 26.96
6 HE U4 103.50 39.00 64.50
7 R EfE 90.50 60.00 30.50
8 Sl —7 84.32 64.75 19.57
9 B KB 76.57 32.50 44.07
10 |[ZHEAIL 76.05 50.00 26.05
11 E E#% 74.27 47.25 27.02
12 |EH i 67.21 47.00 20.21
13 |HHA Wi 62.30 37.25 25.05
14 |FELL #&0% 50.36 20.00 30.36
15 | HEEBE 48.46 3450 13.96
16 |k ZfEE 47.94 38.75 9.19
17 |[INE BT 4483 9.50 35.33
18 [[FH~<AY 43.54 28.96 14.58
19 [(E@ =& 42.80 28.00 14.80
20 |H+E = 4254 30.50 12.04
21 =i 40.08 40.08
22 |IEREET 37.92 20.00 17.92
23 |FEK DS 33.07 33.07
24  |ABAK tHEE 30.06 22.60 7.46
25 |B\K BE 27.83 6.50 21.33
26 I ERk 27.69 21.05 6.64
27 BhiE 3k 26.84 10.00 16.84
28 |ZXTFUIBLEE 23.88 16.85 7.03
29 |REVGZD 22.92 13.50 9.42
30 | B 22.62 20.00 2.62
31 B & 19.85 6.90 12.95
32 |EXK K 18.24 18.24
33 BARMTIEH 18.08 14.10 3.98
34 [sEKR FE 15.61 7.16 8.45
35 (=R FEi 15.36 9.50 5.86
36 |FIELLL 15.14 12.55 2.59
37 |BEH =EF 15.07 9.85 5.22
38 | xfE 14.45 9.30 515
39 |H FE 14.27 6.00 8.27
40 |HEFEAERE 14.24 7.50 6.74
41 nigE #h+ 13.73 8.85 488
42 hE 2% 13.70 7.16 6.54
43 R &% 13.18 8.35 483
44  |BE) K 13.10 8.50 4.60
45 |0 FHEF 12.60 5.25 7.35
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[:{iva K4 BERAUE | RBERAUE | MRARAUL | R—FR
46 | E=AM FEAK 11.96 2.30 9.66
471 |JIEF $£E= 11.21 3.60 7.61
48 |FRA¥ BgE 11.14 9.00 2.14
49 |HHE B 10.42 7.25 3.17
50 iy ETE 9.82 3.85 5.97
51 INUBERE 9.47 5.50 3.97
52 |Thk BE 9.43 2.30 713
53 | iDEE 9.34 6.50 2.84
54 |fRE ME 9.17 5.00 4.17
55 |FHE ESE 8.93 5.50 3.43
56 |TTEF E#E 8.87 4.85 4.02
57 [iBH TE 8.78 4.10 4.68
58 |k EE 8.38 8.38
59 |hEDDE 8.29 5.30 2.99
60 |[{hAT 7.77 7.77
61 TR OEK 7.05 2.60 445
62 |(E2EH 13 6.67 6.67
63 |F)ll EEF 6.50 6.50
64 |Zim EE 6.26 3.60 2.66
65 |AH ZE 6.14 6.14
66 |=A HME 6.00 410 1.90
67 hE 5.77 5.77
68 |5 FIFL 5.70 2.80 2.90
69 |!hgE F= 5.13 5.13
0 (£ FiE 4.86 2.00 2.86
71 FRAEER 473 473
72 |HEW 472 4.72
713 |BRE KHF 4.68 2.10 2.58
74 |BBAR = 4.30 4.30
75 |(HlBAR EifN 415 1.60 2.55
76 |EE B¥ 4.05 3.00 1.05
77 iR INE 4.03 403
718 | RE EH 3.98 1.80 2.18
79 |Fulh MF 3.63 3.63
80 [BRARVGED 3.57 357
81 X = 351 3.51
82 |FF WM 3.39 1.50 1.89
83 |FHBEAE 3.19 1.85 1.34
84 |{kpk BAF 3.15 3.15
84 |#E Bt 3.15 3.15
86 |LtlF FE 3.05 0.00 3.05
87 |&HH M 3.00 3.00
88 |By0O ZEHEN 2.73 1.90 0.83
89 | ik 2.62 2.62
9 |/MLEEE 2.31 2.31
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JERL K4 BERAV | REERAVE | HRRAL | R—FR
91 AdkDIE 2.19 2.19
92 W B 2.12 2.12
93 |¥7IE R0 2.10 2.10
94 |FEMHFEAR 1.99 1.99
95 B FIF 1.91 1.91
96 |1 V& 1.85 1.85
97 |#&Ek HL 1.72 1.72
98 |H L ME{E 1.65 1.65
99 |(chifl BF 1.60 1.60
100 [ith b #kF 1.54 1.54
101 | EEFHEF 143 1.43
102 [lUA TE#% 1.41 1.41
103 |/Mk B3P 1.33 1.33
103 |Z=# —Fi 1.33 1.33
105 |ih REF 1.30 1.30
106 |[F15 HE 1.26 1.26
107 | SBEEBF 1.22 1.22
108 |l k3K 1.21 1.21
109 | EBB# 1.10 1.10
1o (B2 =5 1.06 1.06
11 |2 IR 1.04 1.04
112 [kl EB&E 1.00 1.00
113 | EHHMAF 0.97 0.97
114 |pnEMR EFE 0.95 0.95
114 |ZE 7B 0.95 0.95
116 | BEAaHLEH 0.94 0.94
17 (&N &BE 0.91 0.91
17 |[IF# = 0.91 0.91
119 |ZBRERHAHHVR 0.84 0.84
120 |KEE 1B{K 0.80 0.80
121 |2 H 0.77 0.77
121 |EK &B=E 0.77 0.77
123 | KigERIE 0.66 0.66
124 | ZBEBFhE 0.64 0.64
124 |/ngk 558 0.64 0.64
126 |IUA =i 0.63 0.63
127 [{ER IDE 0.62 0.62
128 |ImAK & 0.59 0.59
128 |HHA BF 0.59 0.59
130 |f8H AHF 0.57 0.57
130 | SHEHLYSY 057 0.57
132 |BE A 0.55 0.55
132 (&8 #WIE 0.55 0.55
134 |KR ERF 0.48 0.48
135 |[HEZE 8 0.47 0.47
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136 |[EAF BEN 0.42 0.42
137 | Bl ®kF 0.40 0.40
138 |E5fE 1R 0.36 0.36
139 | KEAE 0.30 0.30
140 |ER #E 0.25 0.25
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